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   It is important to consider the influence of the pore-air behavior on the seepage behavior of river 
water and rainfall into the river dike, the reason is that the pore-air is likely to be trapped and compressed 
in the unsaturated soil. In this paper, the pore-air behavior during the wetting process in unsaturated soil 
was considered based on the laboratory water infiltration experiment in one-dimension. In this experiment, 
the pore-air pressure, the pore-water pressure and the degree of saturation in the unsaturated soil column 
were measured during the wetting process with constant intensity of rainfall at the soil top surface and the 
rise of river water level at the bottom of the soil. It was shown that the pore-air pressure in the soil with 
the hydraulic conductivity of 10-3cm/s was generated by the seepage of river water when the air 
permeability at near the surface was reduced by the rainfall, and that the local crack in the soil occurred 
due to the larger pore-air pressure. 
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